m] L2ACHIHE (2l & 2)

(cHel - RIS E)

o = M = H T 2 4 i g A

= 7 = o =g
& Dt = & Ot = = Ot = & I = 9

E R D250mm m 1 46,600 46,600 46,600
R (R 2H] 2 3%) 4 0.03 1,398 - - 1,398
ESERIY Tl Ston(EH) AlZt 0.034 9,486 323 21,907 745 10,362 352 1,420
BHEQR 2l 0.022 - 84,166 1,852 - 1,852
o 2HS (=) ol 0.016 - 129,456 2,071 - 2,071
2l =2 neH =z m 0.03 46,600 1,398 - - 1,398
7| FE (] 2[2%) 4 0.02 - - 78 78
SEXHH| 7| A 5hd ton - - 1,523 - -
TS EXEA22 | 10TON,10KMZIX| | kg - - 8 - -
A /2.5m 1m7|& 49,718 4,667 430 54,817
2l =l 2 D300mm m 1 50,400 50,400 50,400
R (R 2621 3%) 4 0.03 1,512 - - 1,512
EEy Failel Ston(E) AlZt 0.036 9,486 341 21,907 789 10,362 373 1,503
BEels ol 0.024 - 84,166 2,020 - 2,020
o 2SS (F5) ol 0.018 - 129,456 2,330 - 2,330
2 = ney=st m 0.03 50,400 1,512 - - 1,512
7| FEE(HH[22%) A 0.02 - - 87 87
SHAH| 7| H 5k ton 0.046 - - 1,523 70 70
TASEXESA22 | 10TON,10KMZHX| | kg 46 - - 8 351 351
A/ 2.5m 1m7|& 583,765 5,138 881 59,785
E R D400mm m 1 85,600 85,600 85,600
R (R 2 H] 2 3%) 4 0.03 2,568 - - 2,568
ESERY Failel Ston(EH) AlZt 0.042 9,486 398 21,907 920 10,362 435 1,754
HEQR 2l 0.028 - 84,166 2,357 - 2,357
i 23 (=) 2l 0.020 - 129,456 2,589 - 2,589
2l =l neHEE m 0.03 85,600 2,568 - - 2,568
7| TR (] 2[2%) A 0.02 - - 99 99
SERHH| 7| A 54 ton - - 1,523 - -
TS EXEA22 | 10TON,10KMZIX| | kg - - 8 - -
A /2.5m 1m7|& 91,134 5,865 534 97,534




m] L2ACHIHE (2l & 2)

(Ete - 2IME E)

S 2 bl C 2l 3 g 3

= 7 = o
& Dt = & Ot = 2 & Ot = 2 & It = 9

2l =l 2 D450mm m 1 99,800 99,800 99,800
ZHR (M) 2H]2|3%) 4 0.03 2,994 - - 2,994
ESERIY Tl Ston(E™) AlzZt 0.048 9,486 455 21,907 1,052 10,362 497 2,004
2Eol 2l 0.032 - 84,166 2,693 - 2,693
o 2HS (=) ol 0.022 - 129,456 2,848 - 2,848
2l =2 neH =z m 0.03 99,800 2,994 - - 2,994
J|FER(UAE[22%) A 0.02 - - 111 111
SHAH| 7| A 5k ton 0.11 - - 1,523 168 168
TSRS X22 | 10TON,10KM7EX| kg 110 - - 8 840 840
A /2.5m 1m7|& 106,243 6,592 1,615 114,452
2l =l 2 D500mm m 1 112,600 112,600 112,600
T (MM =1 213%) 4 0.03 3,378 - - 3,378
EEy Failel Ston(E) AlZH 0.054 9,486 512 21,907 1,183 10,362 560 2,255
H2Eolg ol 0.036 - 84,166 3,030 - 3,030
o 23 (Fx) ol 0.026 - 129,456 3,366 - 3,366
2| =l 2 negzst m 0.03 112,600 3,378 - - 3,378
JIFER(QAH[2]2%) 4 0.02 - - 128 128
SHAHH| 7| A5t ton 0.139 - - 1,523 212 212
TS EXE 22 | 10TON,10KM7EX| kg 139 - - 8 1,062 1,062
2H /2.5m 1m7|& 119,868 7,578 1,960 129,407
2l =l 2 D600mm m 1 148,400 148,400 148,400
ZHR (M) 2H]2|3%) 4 0.03 4,452 - - 4,452
ESERY Tl Ston(E™) AlZt 0.06 9,486 569 21,907 1,314 10,362 622 2,505
2EolL 2l 0.042 - 84,166 3,535 - 3,535
i 2HS () 2l 0.03 - 129,456 3,884 - 3,884
2l =l 2 nE =z m 0.03 148,400 4,452 - - 4,452
J|FER(QUAE[22%) 4 0.02 - - 148 148
SHAH| 7| A 5k ton 0.196 - - 1,523 299 299
TS EXEX22 | 10TON,10KM7EX| kg 196 - - 8 1,497 1,497
A /2.5m 1m7|& 157,873 8,733 2,565 169,171




m] L2ACHIHE (2l & 2)

(Etel : BotME )

o M2 L 2 = | g

= 7 = o
SOl | 2 | BHJ | 2 | oI | 2| B = &

2l =l 2 D700mm m 1 194,300 194,300 194,300
A (R 21| 2|3%) 4 0.03 5,829 - - 5,829
ESERY Tl Ston(E™) AlZt 0.068 9,486 645 21,907 1,490 10,362 705 2,839
2Eol 2l 0.052 - 84,166 4,377 - 4,377
B 2hS (=) 2l 0.03 - 129,456 3,884 - 3,884
2l =l 2 neHEE m 0.03 194,300 5,829 - - 5,829
7| &R (1] 2[2%) 4 0.02 - - 165 165
SHAH| 7| A5t ton 0.27 - - 1,523 411 411
TS EXEX22 | 10TON,10KM7EX| kg 270 - - 8 2,062 2,062
A /2.5m 1m7|& 206,603 9,749 3,343 219,696
2l =l 2 D800mm m 1 237,700 237,700 237,700
T (MM =1 213%) 4 0.03 7,131 - - 7,131
EEy Failel Ston(E™) AlZt 0.07 9,486 664 21,907 1,533 10,362 725 2,923
H2Eols ol 0.06 - 84,166 5,050 - 5,050
o 23 (Fx) 2l 0.036 - 129,456 4,660 - 4,660
2l =l 2 negzst m 0.03 237,700 7,131 - - 7,131
Z|FEE (el 2[2%) Al 0.02 - - 194 194
SHAHH| 7| A5t ton 0.342 - - 1,523 521 521
TS EXEA22 | 10TON,10KM7EX| kg 342 - - 8 2,612 2,612
2H /2.5m 1m7|& 252,626 11,243 4,052 267,922
2l =l 2 DY00mMm m 1 290,700 290,700 290,700
ZHR (M) 2H]2|3%) 4 0.03 8,721 - - 8,721
ESEy 32l 10ton(E=) AlZt 0.076 19,158 1,456 21,908 1,665 20,550 1,562 4,683
2Eol ol 0.098 - 84,166 8,248 - 8,248
B 2HS () el 0.06 - 129,456 7,767 - 7,767
2l =l 2 nEHEE m 0.03 290,700 8,721 - - 8,721
7| &R (1] 2[2%) 4 0.02 - - 320 320
SHAH| 7| A5t ton 0.434 - - 1,523 661 661
TSRS X22 | 10TON,10KM7EX| kg 434 - - 8 3,315 3,315
A /2.5m 1m7|& 309,598 17,680 5,857 333,136




m] L2ACHIHE (2l & 2)

(Etel : BotME )

S 2 bl C 2l 3 g 3

= 7 = o
SOl | 2 | BHJ | 2 | oI | 2| B = &

2l =l 2 D1000mm m 1 342,700 342,700 342,700
ZHR (M) 2H]2|3%) 4 0.03 10,281 - - 10,281
EHEAE Fe el 10ton(E=) AlZE 0.08 19,158 1,533 21,908 1,753 20,550 1,644 4,929
H2Eol ol 0.102 - 84,166 8,585 - 8,585
B 2hS (=) 2l 0.08 - 129,456 10,356 - 10,356
2| =2 n2Y=s m 0.03 342,700 10,281 - - 10,281
7| &R (1] 22%) 4 0.02 - - 379 379
SHAH| 7| A5t ton 0.526 - - 1,523 801 801
TSRS X22 | 10TON,10KM7EX| kg 526 - - 8 4,018 4,018
A /2.5m 1m7|& 364,794 20,694 6,841 392,330
2| =l 2 D1100mm m 1 404,800 404,800 404,800
A (R 2H]2]3%) A 0.03 12,144 - - 12,144
EHEME Fai el 10ton(E=) AlZH 0.09 19,158 1,724 21,908 1,972 20,550 1,849 5,545
2EQlg ol 0.11 - 84,166 9,258 - 9,258
Bl ZHS (=) ol 0.1 - 129,456 12,946 - 12,946
2l =l 2 nRY=s m 0.03 404,800 12,144 - - 12,144
7| &R (]2 2%) 2] 0.02 - - 444 444
SHAHH| 7| A5t ton 0.616 - - 1,523 938 938
TS EXE A2 | 10TON,10KM7EX| kg 616 - - 8 4,705 4,705
2H /2.5m 1m7|& 430,812 24175 7,936 462,924
af| &l D1200mm m 1 469,500 469,500 469,500
A (R 2H|2|3%) 4 0.03 14,085 - - 14,085
EHEAE Fa el 10ton(E=) AlZt 0.12 19,158 2,299 21,908 2,629 20,550 2,466 7,394
H2EolE ol 0.2 - 84,166 12,625 - 12,625
i 2hS (=) ol 0.14 - 129,456 18,124 - 18,124
2| =2 n2Y=s m 0.03 469,500 14,085 - - 14,085
7| &R (1] 2[2%) 4 0.02 - - 615 615
SHAH| 7| A5t ton 0.75 - - 1,523 1,142 1,142
TSRS X22 | 10TON,10KM7EX| kg 750 - - 8 5,729 5,729
A /2.5m 1m7|& 499,968 33,377 9,951 543,298




m] L2ACHIHE (2l & 2)

(Etel : BotME )
o = 2 oo | & 2 M = Hl L 2l &g g A

T ST T g 3w o 2 @) 2 M o) 2o
Bl 2 2 D1350mm m 1 573,400 573,400 573,400
TR (R 2H[2]13%) 4 0.03 17,202 - - 17,202
EEE Fa 2l 10ton(E3) Alzt 0.14 19,158 2,586 21,908 2,958 20,550 2,774 8,318
2Eols 2l 0.169 - 84,166 14,182 - 14,182
o 23 (=) 2l 0.158 - 129,456 20,389 - 20,389
2| 2l 2+ nREs m 0.03 573,400 17,202 - - 17,202
7|FEE (1A 22%) 4 0.02 - - 691 691
StAt| 7| A 5t ton 0.886 - - 1,523 1,349 1,349
TSI ALE X2 10TON,10KMZHXl kg 886 - - 8 6,767 6,767
A/ 2.5m 1m7|& 610,390 37,528 11,582 659,501
2| 2l 2 D1500mm m 1 677,300 677,300 677,300
THAH (RH 211 21 3%) A 0.03 20,319 - - 20,319
EEE T2l 10ton(E) A2k 0.2 19,158 2,874 21,908 3,286 20,550 3,082 9,242
2EQF 2l 0.188 - 84,166 15,781 - 15,781
b 2B () 2l 0.18 - 129,456 22,655 - 22,655
2| 2l 2 neY=s m 0.03 677,300 20,319 - - 20,319
7| FEE (A 22%) 4 0.02 - - 769 769
SHAH| 7| A 5k ton 1.024 - - 1,523 1,560 1,560
TS 2SR | 10TON,10KMZFX| kg 1,024 - - 8 7,821 7,821
A/ 2.5m 1 m7|& 720,811 41,722 13,232 775,765






